Measure and Integration Professor S. Kesavan Department of Mathematics The Institute of Mathematical Sciences Lecture No-71 11.3- Duality

(Refer Slide Time: 00:21)

(X, X, M) mas. op	. 12 p = 00 p' any exponent . p=1 p'=00 (10pco; 1 +1 = 1)	vice verse NPT
g ε L ^e (μ).	fel ^C (μ)	
	(f) = Ifgdp.	
Hiller =)	× (Jg)(3)) = 11g11p, "g11p, => Jg is a cont. lin ful a	m L ^D (p)
	In gll = ngllpr. (2)	
For Fifn of	uces & 15p<00, we wish to show every call le	۸-
fol. on Le	w occurs in this way and use have equality	in(+)
i,e,	gtory is an isometric isomorphism between Lt	. (μ)
9, : () Саману (1934 - Саману (1937)	and (L ^P 145)'.	
	1	and it

We will now discuss an important topic in Lp spaces namely that of duality. So, the Lp spaces are all Banach spaces. Therefore, whenever you have a Banach space, it is interesting to know what is the dual space, the dual space is the space of all continuous linear functionals on the Banach space, that itself forms on the Banach space. So, we would like to often compute what is that dual space, and the study of the dual space often gives us a lot of information about the original space itself. And therefore, it is important to know what is the dual space, and that is what we are going to do now for the Lp spaces.

So, we have (X, S, μ) , measure space, and you have $1 \le p \le \infty$. And then, p' is the conjugate exponent, that means if p=1, then $p' = \infty$, and vice versa, and $\frac{1}{p} + \frac{1}{p'} = 1$.

So, let us take $g \in L^{p'}(\mu)$ and $f \in L^{p}(\mu)$, then we define

$$T_g(f) = \int_X fgd\mu.$$

So Holder implies $|T_g(f)| \le ||f||_p ||g||_{p'} \Rightarrow T_g$ is a continuous linear functional on Lp mu, and $||T_g|| \le ||g||_{p'}$. ------ (*) So, our aim is to show for sigma finite spaces. So, for sigma finite spaces, and $1 \le p < \infty$, we wish to show every continuous linear functional on Lp mu occurs in this way, and we have equality in (*). Stars, so not only so in other words this g going to Tg, that is g going to Tg is an isometric, isomorphism, its 1, 1 on 2 continuous map, and therefore it is isomorphism by the open mapping theorem, and it is an isometric isomorphism, because the norm is preserved so between Lp dash mu, and Lp mu dash which is the dual space of the.

(Refer Slide Time: 4:40)

Propertition (Uniqueum) (X, 3, m) o-fin mean, op 15; g iz1,2 in L'(4) s.t. 73, 275 Then g 282 a.e. dis ist. g les 75 in infective. $\overline{bt} \cdot f \in \Gamma_{b}(h), \qquad \sum b(g'-g'') \cdot f(h) = 0.$ Ecx out of the rear the Ether. ∫ (β. 7.) dμ=0. Ε Ε 6 5, τ- filtran =) Ε=ÜΕ; Εί'ο αδήτ. μ(Ε:)<τα ∀ί $= \int_{\Sigma} (g_{1}, g_{2}) d\mu = 0 =) g_{1} = g_{2} \text{ a.e.}$

Proposition. (X, S, μ) σ -finite measurable measure space, $1 \le p < \infty$, $g_{i'}$ i = 1, 2, $in L^{p'}(\mu)$, such that $T_{g_1} = T_{g_2}$, then $g_1 = g_2$ almost everywhere. So, in other words, the map $G: \to T_g$ is injecting.

proof: $f \in L^{p}(\mu)$, then $\int_{X} f(g_{1} - g_{2})d\mu = 0$. So, E contained in X set a finite measure, because its finite measure then $\chi_{E} \in L^{p}(\mu)$, therefore $\int_{E} (g_{1} - g_{2})d\mu = 0$. Now, if E is S because of sigma finiteness, $E = \bigcup_{i=1}^{\infty} E_{i'} \mu(E_{i})$ finite for all i. Then, this implies the

$$\int_{E} f(g_1 - g_2) d\mu = 0 \Rightarrow g_1 = g_2 a. e.$$

(Refer Slide Time: 7:50)

g 1-5 Ty L'(qu' -> (L'(qu') in mijedine cant To show it is suppositive and an insurtry. Lenna (X, 3,4) noo. p q. X siz velle. Assume + M(E) >0, L (ge 24 ≤ K) Then lg1 ≤ Ka.e Pf: U= Sterl 1617 K3 apar not. Let (a-r,a+r) CU E = { zek | q(2) & (a-1, a+1) } Ng p(E)>0, not A = (g) = 1 Jg dy

So, this proves the uniqueness, so now you have that g going to Tg, from Lp dash mu to Lp mu dash, the dual space is injective and continuous, to show it is subjective and isometric. So, we will first move it to the finite measure space, then we will look at it in a general case, sigma finite. Before that, anyway we need a very interesting lemma. This is a nice lemma.

Lemma: (X, S, μ) measure space $g: X \to \mathbb{R}$ measurable, assume for every $\mu(E) > 0$, you

have that $\left|\frac{1}{\mu(E)}\int_{E} fgd\mu\right| \leq k$. Then $|g| \leq k a. e$.

proof: $U = \{t \in \mathbb{R}: |t| > k\}$ open set.Let $(a - r, a + r) \subset U$. Define

$$E = \{x \in X: g(x) \in (a - r, a + r)\}.$$

Now, if $\mu(E)$ is positive, then you have $A_E(g) = \frac{1}{\mu(E)} \int_E g d\mu$.

(Refer Slide Time: 11:20)

 $\operatorname{Tw} |A_{E}(y) - \alpha| = \left| \frac{1}{\mu(E)} \int_{E} (g - \alpha) d\mu \right| = \frac{1}{\mu(E)} \int_{E} [g - \alpha] d\mu$ >) A_p(g) ∈ (a-v, a+v) ⊂ U => IAE (g)] > K X. => W(E)=0. Now Smex 1 gast k3 can be award by a cille no. of sold of the form E (ringe U entre atter wind of intervals) =>44/191>2)=0 10. 1915Ka.e.

Then, mod Ae of g minus a, equals 1 by mu E of integral over E, g minus a d mu, a is a constant so if I integrate over E, I will just get mu of E times a, divided by mu of E is give you a, again, so this I can write like this. But g minus a, because we are in E, g minus a is less than or equal to r, so this is less equal to 1 by mu E, integral over E, mod g minus a, d mu, but this is less than or equal to less than r, and therefore, you have then this is equal to sorry less than or equal let us strictly less than r.

So, this means that AE of g also belongs to a minus r, a plus r. And, that is less than contained in U. And this implies that mod of AE of g is greater than equal to k, which is a contradiction. Because you have told that for every set of positive measure. The A average is less than or equal to k. So, this implies that mu E equal to 0.

Now, set of all x in X, so say gx is greater than k can be covered by a countable number of sets of the form E, since U is the countable union of intervals. So, each set of this form is of measure 0, and therefore this implies that mod g greater than k, the measure of this equal to 0, that is g mod g is less than equal to k, almost everywhere. So, that proves this.

(Refer Slide Time: 14:15)

Thm. Lat (2,3, p) be a finde mean op. 15 p < 00.	6
TE(LE(p)). Then Fix unique & EL (p) OF. T= ; and	()
$1/5 n = 1/3 ll_{\mathbf{p}'}$	NPTEL
PS: Shept. Je finite man. XEEL(4) VEES.	
Define DIEI= T(XE) EES	
$\lambda(4) = \overline{1}(6) = 0$	
ARB are sligt XAUR = XA+ XR	
=) X to finituly additive (: 7 to linear).	
E= ÜE; Eies, Eile aligh	
$F_{\mu} = \bigcup_{i=1}^{N} E_{i}$, F_{μ} ? E.	
HIT 3. Q. () SHATSHE HANNES	
	in.
	MIL Se

Theorem: Let (X, S, μ) be a finite measure space, $1 \le p < \infty$, $T \in (L^p(\mu))'$. Then there exists a unique $g \in L^{p'}(\mu)$, such that $T = T_g$, and $||T|| = ||g||_{p'}$.

proof: step 1: now, μ is finite measure, therefore chi of E belongs to Lp of mu for all E and S, and therefore define lambda of E, equals t of chi f. Then of course the lambda of the empty set is chi_f for the empty set is the identically 0 function, so t of 0 is equal to 0. Now, if A and B are disjoint, when chi of A union B is chi of A, plus chi of B. So, this implies that lambda is finitely additive, since p is linear. Now, let E be the union Ei, Eies, Ei is disjoint, then we do the usual thing f k equals union i equals 1 to k of E, Ei, then fk increases to b.

(Refer Slide Time: 17:24)

m(E)= 2 m(E;) <+ 0 $\mu(E(F_{e}) = \mu(\bar{e}) - \mu(F_{e}) = \sum_{i=1}^{\infty} \mu(E_{i}) \xrightarrow{k-2^{\circ}} 0$ => 11x = x = 11 = p(EVF_) > 0 $\gamma_{\mathbf{F}} \rightarrow \gamma_{\mathbf{f}} \quad \dot{\mathbf{h}} \stackrel{(\mathbf{h})}{\longrightarrow} \quad \overline{\mathbf{h}} (\gamma_{\mathbf{F}}) \rightarrow \overline{\mathbf{h}} (\gamma_{\mathbf{f}}) = \lambda(\mathbf{F})$ 5 X(Ei). I is chally addition =) I is a signed mean μ(E)= > XE=0 a.e., = XE=0 in L'(4) => N(E)= T(KE)=0. => > > > > By Rodon . Nikodyn Hum 3 720 XE - Jgdy & E63

Then, mu of E minus fk is equal to, since you are in the finite measure space, you are allowed to subtract, let me write this, so mu E equals sigma, i equals 1 to infinity mu of Ei and that is finite, and mu of E minus fk is mu E minus mu of fk, and that is equal to sigma i equals k plus 1 to infinity, mu of Ei. And, this tends to 0, as k tends to infinity, because you have this the tail of a convergent series, and therefore this has to go to 0.

Then, therefore this implies that norm of chi E minus chi of fk in Lp, this is nothing but mu of E minus fk because that is where it is, (())(18:34) everywhere, else it is 0, and power 1 by 3, and therefore this goes to 0. So, chi E converge, chi is chi of fk converges to chi of E in Lp mu, therefore t of chi of E, chi of fk converges to t of chi of U, which is equal to lambda E, but this is a finite disjoint in the n, so this equal to i equals 1, 2, k lambda of chi of Ei lambda of Ei, and therefore you have lambda is countably additive, implies lambda is a signed measure.

Now, if mu E equal to 0, this implies that chi E equal to 0, almost everywhere, that is chi E equal to 0 in Lp mu, and therefore this implies lambda of E which is t of mu E, and t of chi E equal to 0. This implies that lambda is absolutely continuous with respect to mu, because no, so by the Radon–Nikodym theorem, there is a g, which is greater than equal to 0, such that lambda E equal to integral gd mu over E for all E in s.

(Refer Slide Time: 20:53)

By Radon Nikodyn Hun $\exists q z_0$ $\lambda t = \int g \lambda_t d t \in S$ $T(R_t) = \int g \lambda_t d t .$	
By thearity AT, it q is any single fr.	
T(q) = J qq dr. X Stop 2. f e 2°(m), f 20. The fell(p) + 1 < p < 0 (fr is fin')	
\$ q, 3 n = 1 m fe δu, - P, > p, q, 1 f. Qn → f in E (qn).	
Ţ (q,) →) /// /	

So, by linearity of T, if ϕ is any simple function, we have

$$T(\phi) = \int_X \phi g d\mu.$$

step 2: f in l infinity mu, f non negative, then of course f is in Lp mu for all 1 less than equal to p, less than infinity, this is because mu is finite.

So, phi n, n equals 1 t infinity, simple functions, phi n non negative, phi n increasing to f. Then, we also saw phi n converges to f in Lp mu, we have already seen this earlier, phi n converges to f in Lp mu to a simple application of the dominated convergence theorem. Therefore, T of phi n converges to T of f.

(Refer Slide Time: 23:19)

and -> 28 throws	100,91 =	flg (into.	
PCT, Jang du × "	-> Jag dyr X		
ر (ئى) = ر مەن جەر (ئىرى - ي	-14) An 4	f e L" (m). f 70	,
ې م م	, ,		
R, () 00 May 1994 - 54 Mg 1995			
			S.

On the other hand, $\phi_n g \to fg$ pointwise $|\phi_n g| \le f|g|$. Therefore by dominated convergence theorem, we have $\int_X \phi_n g d\mu \to \int_X \phi g d\mu$. And therefore, and this is nothing but t of phi n, which converges to t of f, therefore you have $T(f) = \int_X \phi g d\mu, \forall f \in L^{\infty}(\mu), f \ge 0.$

t of f equal to integral over x, phi g, d mu, for every f in l infinity.

(Refer Slide Time: 25:25)

f G L° (K)	チェギーチ => 「(チ)=	fgaye & ferages
To Prove: -	some istere 4 FEL ^e (p).	
	& WTH = MgH = MgHp:	
04 May 09 59 - 04 May 12:00		6

So, if $f \in L^{\infty}(\mu)$, $f = f^{+} - f^{-} \Rightarrow T(f) = \int_{X} fgd\mu \ \forall f \in L^{\infty}(\mu)$. So, now to prove, the same is true for every $f \in L^{p}(\mu)$, and $||T|| = ||T_{g}|| = ||g||_{p}$.

So, this is what we need to prove, which we will do next time.